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Sr. Inter Mathematics IIB Model Paper 

Coordinate Geometry and Calculus 

Time : 3hrs           Max. Marks.75 

Note: This question paper consists of three sections A,B and C. 

Section A 

Very Short Answer Type Questions.       10X2 =20  

 
1.( -4, -3) ������ ��  	
��  
����� x2 + y2 + 2gx + 2fy = 0     ���  ��� ����� ������ � ���!"���� .  
  

2) (-6, 1), (2, 3) #���	$�% x2 + y2 – 2x + 2y + 1 = 0 	
��0 �
&�' (   
����� 
����) #���	$�% 

*+ ,-.$��   

 3. x
2
–6x–6y+6 = 0 .������ /�0 123 + ����� 123 ��4� �� ���!"����  

  

4.   3x – 4y = 12 , 3x + 4y = 12 meets   ��5�% S = 0 *16 *7 .������ �� 5�89�,��%�:; <  *7 .������ /�0 

=��0������ ���!"����    

  

5. (5,4) *16 #���	$���> X2 + y2 +2ky = 0  	
�� � ���% !?@A� 
B�C ��5 DEF	$ 1 ���    k ���!"���� 

6.   

x

x / 2

e
dx

e 1+∫  on R. 

 
  

7.  

x(tan x logsec x)e dx+∫  on  
1 1

2n , 2n n Z
2 2

    − π + π ∈    
    

 

  

8. 

  

/ 2

x
/ 2

cos x
dx

1 e

π

−π +∫  �� ��4:G' �� 

   

  

9.

  

/ 2
7 2

0

cos x sin xdx
π

⋅∫  �� ��4:G' �� 

 

10. 
dy 2y

dx x
=  /�0 ������ ���!"���� 
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Section B 

Short Answer Type Questions.   

Answer Any Five Of The Following      5 X 4  = 20 

11. x2+y2 – 6x - 2y +1 = 0; x2+y2 + 2x - 8y + 13 = 0   	
�2� �%   
�B@A�,� �%� :H�I+  ,-JA 
B�K #���	$ 

����� 
B�K #���	$ 	�L =�)89 
B�C ��5 
����� ���!"��89. 

12.  x2 + y2 – 6x – 4y + 9 = 0 , x2 + y2 – 8x – 6y + 23 = 0  	
�2� �  =�)89 NO�     �P�F	 	
��� /�0 ���
� 

*	$�Q��  + ,-JA ����� R2+ DEF	$   ���!"���� .  

13. 4x
2
 + y

2
 – 8x + 2y + 1 = 0 RS�T 	
����  /�0   .�U2� *V�, WX
Y  *V�, 123 ��4� /�0 DEF	$, 

=��0������, ������, 123 ��� ����� @A� ��V 
Z���2��� ���!"���� . 

    

14.  

2 2

2 2

x y
1

a b
+ =  RS�T 	
����  123 ��4� /�0 [� >	����> !?@A� *3��4 ��5 WX
Y *V�  /�0 [� >	� 

���89 DE�� e4
 + e

2
 = 1 *+ ,-.$��. 

  

15.   

2 2

2 2

x y
1

a b
− =   *16 *7 .������ /�0 �P�F\ ��4  
B�C ��5�  5�F� #���	$   x2

 + y
2
 = a

2
 – b

2 *16 	
����    

�� #���	$ *+ ,-.$��. 

  

16. 
7

3

7 x
dx

x 3

−
−∫  �� ��4:G' �� 

 

  

17. (2x + y + 1)dx + (4x + 2y – 1)dy = 0 /�0 ������ ���!"���� 

  

Section C 
Long Answer Type Questions.   
Answer Any Five of the Following     5 X 7 = 35 
18.      (3, 4); (3,2); (1,4) *16 #���	$� ���82 D] _̂ 	
��  
����� ���!"���� 
 
 19. x2 + y2 + 2x + 4y + 1 = 0, 2x2 + 2y2 + 6x + 8y – 3 = 0,x2 + y2 – 2x + 6y – 3 = 0 *16 	
�2�   ��� ��4� � 

5�89� �̀  	
��  
����� ���!"���� 
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20.   y
2
 = 4ax *16 .��	��� �a *���bc�,489� 7�d�N �efg���� 1 2 2 3 3 1

1
| (y y )(y y )(y y ) |

8a
− − −  sq.units ���  

*+ ,-.$��  h�0F y1, y2, y3  �%  7�d�N  i��j � �ef +�k.����%   

  

21.   
1

2

2x
tan dx

1 x
−  
 − 

∫  on I ⊂ R \ (–1, 1). 

  

22. 

dx

3cos x 4sin x 6+ +∫  

  

23. 
/4

0

sin x cos x
dx

9 16sin 2x

π +
+∫  

  

24. (1, π/4) #���	$ ���82 D]�l  2dy y y
cos

dx x x
= − ,   x > 0, y > 0 �� ���% !� �� 	�m 
����� �� ���!"���� 

  

 

 


